Math 2415, Quiz #14, Summer 2014
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Instructions: Show all work. Justify answers as completely as possible. If you are asked to prove

something, mere computation is not enough. You must explain you
conclusion clearly. Incomplete work or justification will not receive

specifically asked to round.
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Find the eigenvalues and eigenvectors of the matrix A = [
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real, sketch them on a graph and determine the long-run be
eigenvectors by plotting sample trajectories. If the eigenve
to plot them, but you do need to determine the general lon
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haviour of the system near those
ctors are imaginary, you don’t need
g-run behaviour.

z

x=<

tq -2 w2
y -

1= X

i
L]

Lxi=2r \

¥ E¥a

= Z]
u

Sama_

o




